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A 3E2SA
M ¥ooimel DEoH(UUTRHE/AUNE)
chel: 23 Jigt =24 (=& J)
SA - BB B () - MM - BES Ol &t o San HmEET
OZFEstAIY J18g® AN
60,0003 *5H 3«73 6,300
OZ&a=ss B2 Z2XNAeUs IR oyl
60,0003 x4H 240
207 Ao 2| 70,000 0 70,000
01 2284 70,000 0 70,000
OMelzgs getgl 84 70,000,000& 70,000
303 Z& 3 1,000 1,200 A 200
01 Z&3 1,000 1,200 A 200
OFESXAQHS LaX A3 1,000
X R 300,000& »1H 300
- 200,000& »2H 400
- 100, 000& »3H 300
405 XHoHF S HI 394,500 344,000 50,500
01 et EZFH S 394,500 344,000 50,500
OkL® FAFH A 1,150,000& »330CH 379,500
OglaE Zgld 500,000& »20CH 10,000
O2AE AJMH 250,000& »20CH 5,000
HHEFSE N3 768,442 651,733 116,709
= 1,771
Al 756,671
ANAE 29 2 22 713,559 592,245 121,314
201 LBH2E| 216,258 199,421 16,837
01 At 22l 52,632 53,332 A700
O1.det=2Hl 48,600
-HEFE YRFA Let=FHl 2,000,000 2,000
-HEZEDB E2E WYHHOE P2
150,000& 60K 9,000
~SEPCECH(V3, LHPCXIZIOl) S/WAHE A Al
94,000,000 *40% 37,600
O5.2&Hl 4,032
—HEFEAAE HRFA AIZAZ 2L =4
7,000 *4H* 122« 122 4,032
02 =224l 163,626 146,089 17,537
O1.3322LHA 60,000
-2el0l2XANEIA 23 5,000,000& x12& 60,000
O3. A& & Hl s Xt 103,626
-2-LI2tAI2 8 (H/W) R+ 13,926
=-LIctAIAE M
158,250,000& *8%x*1. 1 13,926
-2-LI2tAIA - (S/W) RXE= 6,157
T 2-Ut2tAIAE WAS  15,000,000% #8%*1. 1 1,320




LRI
HE: Yol
X

NBOITo DESHUNBIHT /LU HE)
e HFFE D&
4 14
SN P SA(EN) - MBAY - BES 0] &k o4 e
=-Ltetol et EHQEFE 248 2 A
7,900, 000& *8%+1. 1 2,456
T SEEMIMAIAE(2-UeH FETEAM)
27,054,540 »8%*1. 1 2,381
-RAEN2MHAIAE SXE= 3,529
T REX2AMAIAE S/W
6,733,630 *12%*1. 1 889
T RN MAIAE WAS
30,000,000& *8%x*1. 1 2,640
-2 |XEH(2-Uet, g2, Z2l0l)
106,440,000 *8%*1. 1 9,367
-BESAERX FXE4(SANAIXIELE)
220,750,000& #8%x*1. 1 19,426
-HYEE0B SEUSANLE A2 11,889
1XF VILH S EH S22
99,895,000& *8%x*1. 1 8,791
2XF LTOM A ZH S22
35,200,000& *8%x*1. 1 3,008
-HStEAIAE 3,049
° H/W 10,080, 7003 *8%+*1.1 888
° S/W 24,550,000 *8%x*1. 1 2,161
-2 A A (FMS) S X 2 =
38,000,000& *8%x*1. 1 3,344
-22|0I 2R MHIA ALY SAES 4,454
° H/W 15,909, 000 *8%=*1. 1 1,400
° S/W 34,700,000 *8%*1.1 3,054
-USBE QtAIAEl S X2+ 6,715
° H/W 40,700,000& *8%+1. 1 3,582
° S/W 35,600,000& *8%x*1. 1 3,133
-2l AIAY HW RXES
11,000, 000& *8%+*1.1 968
BEZHMAHAAE SXE=
61,196,000 *8%*1. 1 5,386
-AHE gete2l) SIES
56,396,360 *8%*1. 1 4,963
-3 (FWSM) 20248 MH |SAES
16,640,000 *8%+*1.1 1,465
-3&J|8H/2-Ltet WASRLIEHE S/WeXIE =
41,764,000 *8%+1.1 3,676
SAHEZHMAHAAYE X2
39,600,000& *8%x*1. 1 3,485
~ESES AT AIAE (X2 -e)H/M
8,261,000& *8%+1.1 27
-SEHMAH(H/W)
14,998,000 *8%x*1.1x10/12 1,100
202 04l 4,320 4,320
12O 4,320 4,320




2N
X ZH -
L= B

el

dEsd
FEolmet NESHYS U/ ABHT)
#HEZE D&t

SN EHD B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
OHMZSHISAIY =& H|
60,000& »4H 3 *63] 4,320
207 S0 | 22,000 100,000 A78,000
02 & AHJH Y| 22,000 100,000 A 78,000
OMsg#dZE JjH 22,000,000 22,000
308 XNXIGHHM SO0l & 135,981 137,304 N 1,323
10 2| 2SHUSHE A X HE A I 135,981 137,304 A 1,323
O2-LIctAIAE 29X J dRE
27,224,000 27,224
OZ22ED|EtAIAE X122 91,468,000 91,468
ORE20F KAI&c 5,262,000 5,262
OHEFSSHEAALY AU AGAZT A 22
6,160,000& 6,160
O38J18 MHol=7FAIAE X 22
5,867,000 5,867
403 XX SHHS K20 & 196,000 0 196,000
02 BI2SOHUS A== AE Y 196,000 0 196,000
OANZF Z2EDI8HI| APABH A
196,000,000 =14l 196,000
405 XHAHF S HI 139,000 151,200 A 12,200
01 AL 2 ZF S| 139,000 151,200 A 12,200
OAHE Sate X 46,000,000 «2CH 92,000
OEg=2 22| AlAHE 47,000,000 47,000
MNXSH 2SI/ S &H WA X <E x> 41,774 59,488 N17,714
= 8,753
Al 33,021
201 gBt2Ad| 41,774 59,488 N17,714
= 8,753
Al 33,021
01 AP 2t 2| H| 41,774 59,488 N17,714
O6.4xt=z 41,774
A2 SEEH LA & A28 02AGAIY
41,773,080 41,774
= 8,753
Al 33,021
MNXESHH SEHMHUSHHA 2SN IJ<EX> 13,109 0 13,109
= 3,018
Al 10,091
201 LBt | 13,109 0 13,109
= 3,018
Al 10,091
01 AP 22| d| 13,109 0 13,109
O6. 4 Xtz 13,109
A2 MHEFRMATRS 13,108,230 13,109
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SN HESMD
I FyeEolmet N (et /ALAY)
ool IR DTa EERED
s = SRE]
SN P SA(EN) - MBAY - BES e HlDE2
= 3.018
Al 10,091
NEx=0 HE 5t 632,135 647,341 A 15,206
= 6,720
=3 87,112
Al 538,303
230E 2¢ 26,986 26,346 640
201 2dl 21,706 21,546 160
01 2 el bl 9,030 8,870 160
SEIRE=T1 7,400
H0IS YRET YurSH|
3,000,000 3,000
250IS Festa HAE DI S=H|
204 = A +1,200,000& 2,400
IISHRBUHSY HUADE R
100, 000 =4 JH Ot S +53] 2,000
03.294+g 1,630
2302 T2 d2A2X uESLA =E
80,000 x1H x4 Al 2t%43] 1,280
P02 ZT2ORRAK HLIANE T
70,0003 x5& * 12 350
02 3324l 12,676 12,676 0
O1.22L3LHA 1,008
-IPTV sl&d 2 21,0003 #4000t =+12& 1,008
O3. A& ZHl s Xl 11,668
-HE230e HE=E g2
2,917,000& 44 Ot S 11,668
301 et d = 5,280 4,800 480
09 EAMNAHIESS 5,280 4,800 480
P02 AR NEXE &0
60,000 «3H 4} Ot S *23] 1,440
230tS Festa @A EA0WHI
60,0003 «2& «4JH OF S 4L 1,920
202 ZT2IBRIK DSE A
60,0003 « 12 401 Ot S 2L *43] 1,920
2atus 24 248,090 261,280 213,190
201 2l 179,040 181,280 A2,240
01 2 el 148,980 147,780 1,200
Bt Z Y| 68,180
d2stusd 29 LE+=EHl 1,800,000& 1,800
JNBE DEDM TY(E - 57
6,000 120 204 2t H 0 F 12,960
22 Y5 RS PY
6,000 x20F «4H 4 E «10& 4,800




A 3E2SA
H: ¥Polmet NESH(YBtT T /LB A)
el XeEe F2a (S &2)
SA - BB B () - MM - BES Ol &t o San HmEET
-FRUFE0EANE DM 7
10,000& =120 »9& 10,800
-FUIHE0SAME IS8 S/W 2L
200, 0003 *2copy* 1204 2= 4,800
“AlAE 2R S/WR Y 60,000 *24 4 1,440
ST NSNS DRE oYY 242
110,000& 128 1,320
-d2stusd d27] it
35,000 *3M & 128 1,260
“AKY HANS ZEEH 22
1,000,000 14 SHS 14,000
-SRI HAANE BEE 22
1,000,000 150 SHS 15,000
O3.2d=¢ 80,800
SN HES N R2AL =S
40,0003 *2 Al 2Fx601 1t H x 15«9 64,800
-S2d B3 2AME
40,0003 =2 Al 2t+52 *207H B* 8,000
-30ZEE WsTA ¢ 8,000,000& 8,000
02 2324l 30,060 33,500 A 3,440
O1.22SILHA 15,600
-AIPIEESNEE AHYEH AER
650,000& »23| & 128 15,600
O3. Al ZHl s Xt 14,460
-NEE H2LI(PC)S X 22l
1,350,000& * 190CH »4% 10,260
-HICIREZXEEH KAL2=H 4,200
NOEES WS (HD, HH)
700,000& = 1CH 700
© SOE MBOISAE (BT, HE)
00,000& =504 3,500
405 THabH S| 69,050 80,000 210,950
01 AL EFH S 69,050 80,000 A 10,950
OFEstusd =27H A
900,000 = 13CH 11,700
OFEstusd ==2ULH A
250,000 = 128CH 32,000
ORI U=EE HIULXLEZHEH WAl
2,500,000 *2CH 5,000
Osdie=Ra & 23 WS &I 14,350
-3 FH 900, 000& 9K 8,100
-2 L E 250,000& +9CH 2,250
-ZVELH((HBIOQEZZHEEH M)
4,000,000& = 1CH 4,000
Oo3pEEH 3,000,000% »2CH 6,000
FB0EEANERNA<E > 272,760 272,760 0




EX: AEsSA
MM HMEQlmpt DESH(YBr2 2N /BN )
Sl XHE Fa (B9 ®R)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
= 70,200
Al 202,560
101 Q121 H] 270,360 270,360 0
= 70,200
Al 200, 160
04 JI2ZtHIZ22NEE S 270,360 270,360 0
OXNEAHB 32 AE X AL 270,360
-0l 21| 52,000 x20% x225! 234,000
& 70,200
Al 163,800
- EH ¥ 2HAlH| 2,500& 20X 189 9,450
-AEE J|a8e=2 234,000,000 *11.5% 26,910
301 Lt A= 2,400 2,400 0
09 HAIAHI EAZ 2,400 2,400 0
OXNYAEBS2AA WEEIF 4]
60,0008 x20H x23| 2,400
AE30l2 T2 )dEH 2 A sH<EX> 70,299 66,955 3,344
= 6,720
= 14,112
Al 49 467
307 212t0| & 70,299 66,955 3,344
= 6,720
o= 14,112
Al 49,467
02 DI AAIE E X 70,299 66,955 3,344
OAE30le T2 2L SH(E0|2,4=2
Ze2)) 35,658
-Jl23 1,400,000 2% « 122 *80% 26,880
= 6,720
= 6,048
Al 14,112
-AEE J|2a8e= 33,600,000& x11.5% 3,864
-g 22 4,913,430 4.914
O¥E0lEs Z2 082X SE(IIHEEH, Al
ZHH| S ALSH) 34,641
-JIE3 1,400,000 2 = 12& *80% 26,880
o= 8,064
Al 18,816
-AEE J|2a82e=2 33,600,000 *x11.5% 3,864
-§ &2 3,896,980& 3,897
B350l I8 x> 14,000 20,000 A 6,000
& 2,800
Al 11,200
307 QI2t0| ™ 14,000 20,000 A 6,000
&< 2,800
Al 11,200




AN BESAD
M ¥ooimel DEoH(UUTRHE/AUNE)
el ANE=0 F=L5 (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l &t San DS
02 HAFHANGEEX 14,000 20,000 A 6,000
OZEs0E 43X 3,500,000& 4002 14,000
< 2,800
Al 11,200
M A BHS 865,395 278,604 586,791
FAMOIE 28 & 22 865,395 278,604 586,791
201 Let24E] 255,000 200, 364 54,636
01 AFR2t2lHl 11,660 35,960 A 24,300
O1. gt gy] 8,440
~EHO0IX APEX LAY 1,200,000 1,200
~uiol 9 ANE PEMH PY
180,000& « 104 1,800
-2/=01 SHOIXl B 270,000& =128/ 3,240
-HAZZOH HOO0IE 2,200,000& 2,200
03.28=¢ 700
-ADE 2t HOIX S EHl Mt &Ak
A =g 70,000& x 10 *13] 700
O5.=&Hl 2,520
—SHOIXI 22l AZA22X 4
7, 0009\;J *3H 10 128 2,520
02 =224l 243,340 164,404 78,936
O1.332=Z<HA 56,928
-ZEYSHOIX 3= 4,100,000& =122 49,200
-UMS(S & I M X1 )AHS 300,000& =128 3,600
~2 QSO A (MY Z3IH])
200,000& =128 2,400
“SHUAEIA MBS 60,0003 » 124 720
-2HtY BPC FUAEES 28,0003 +3CH+123 1,008
O3. A& & Hl* X bl 186,412
AL (L4, L2) RXNES 72,575,000 *8% 5,806
-gadE |FAUE S 68,156,000 *8% 5,453
-dYsy A2 36,000,000 *8% 2,880
-ONSE EEH RAE=+ 17,500, 0002 *8% 1,400
-HIEEXE & ANESEEH FAES
29,500,000 *8% 2,360
—HAIAE FH FXE2=2 139,650,000 *8% 11,172
-8 Jtas s248 2L
62,000,000 *8% 4,960
—-EMC NS120 AE2 X ®XE=
91,800,000 *8% 7,344
—EMC VNX5300 AE2IX RX 2=
79,000, 0003 *8% 6,320
“HAHANAEH SXNE 75,900,000 *8% 6,072




A 3E2SA
M ¥ooimel DEoH(UUTRHE/AUNE)
ol ANEIA BHS (cho &)
SA - BB B () - MM - BES Ol &t o San HmEET
SAEIEAY ¥ T2 |FANES
35,200,000 *8% 2,816
“EEA HE 26t FAOIE(Y X&) 2K
g2 88,920,000 *8% 7,114
-2l=0 HAIOIE |RXE=+ 46,200,000 x8% 3,696
-AHEHER2E |FAES 39,455,000 8% 3,157
A2l E-Mai (208t ZE)AIAE L EMS &
FH KA 68,270,820 *8% 5,462
UFHHBAANALY SA LA
32,000,000 *8% 2,560
—-E-book AlIAE RIS 40,000,000 *8% 3,200
“HAAIAED EHO0IXN 29 FAE
200,000& »12& 2,400
-JIEE 2 OtAIIHE EERHE RIS
28,000,000 *8% 2,240
~HAOIE 2HEl= JNEUS(AA BY)
100,000, 000& 100,000
202 o4dl 3,240 3,240 0
01 = LH o4 1l 3,240 3,240 0
OQHYHYE2Y R0
60,0003 *3H 3 63 3,240
207 A& H| 325,000 50,000 275,000
02 & AR b 325,000 50,000 275,000
OADE 2HtY AWOoIX S E
300,000,000 300,000
ONon-ActiveXJlgh JIEEEZHE2H &g
25,000,000& 25,000
301 L2 A= 5,155 0 5,155
0B A =ERRAB LS 5,155 0 5,155
OA=ERRE 5,155
22 195,000& 1H 128 2,340
-S A 7,0003 x1H*x22U 128 1,848
- S| 2,6003 x1H 22 +128 687
-IIl = Hl 140,000 » 1 »23] 280
307 glz2+ol & 200,000 0 200,000
05 RIZtE = 200,000 0 200,000
OR2Htg EHHIAE HL2E AL
200,000, 000& 200,000
405 RHoHF S HI 77,000 25,000 52,000
01 et EZFH S 77,000 25,000 52,000
OZMHOIX HAAAE(LH) 50,000,000& 50,000
O&ZII=2el & SHAAE 27,000,000& 27,000
dESAIIE &= 955,905 891,483 64,422




2A: BESAY

MM HEQITp DTS (LS I/ UHY)

e HESAIIE =25 (SH2:EH)
2A-F3H-H2A(3) - MY - BES O] Ak %Ei Hns2Z
SHAAE 29 293,002 248,107 44,895

201 L2 242,442 217,827 24,615
01 At 22l 10,960 7,960 3,000
O1. gt 24| 7,600
~SMXNFYRFA Lt EHl 3,600,000€ 3,600
-3|olAl ZEEH e AZE 7Y
1,000, 0009 1,000
~HAb FQAE AU EXLLR
3,000,0009 3,000
O5.3&Hl 3,360
SEAXY HRFE AAA22X S A
7,000 x4+ 10« 128 3,360
02 23294l 231,482 209,867 21,615
O1.3B2ZLHA 189,339
-HRI AR (AIW)
21,0009 %1303 &1« 122 %1 .1 36,036
OIHUANS MEIHZ(BIAE)
314,500 15| & * 122 *1. 1 4,152
-RINFE SN FRIHB(2H-TH)
286,000 *25] & %122 %1 1 7,551
-2BAE ol22 141,600
cHMB2 3,500 *100S «12& 4,200
C 532 35,000 %143 & x12¢ 5,880
© DOD AF2Z2(AIL) 80,000 +603) & « 128 57,600
DD AIE2(ZHM,.E5U)
120,000 «384! Dt A %128 54,720
NASUE SHABS(HIZY) MHIA
gz 2,000 «800H * 12¢ 19,200
O3. Al & FHIS Xl 42,143
ME= DI I-ES 250,000, 0002 *5% 12,500
SIZEFIHI RNES(AZA, 2FHA 23])
1,000,000 1,000
-OXNEREI SN2 120,000,000 *5% 6,000
-HME A DAAY SXE2 44,550,000 «5% 2,228
~D2HE SNEL(HEAA)
2,000,0002 2,000
-EESANEEY SAES(UEA394)
5,000,0002 5,000
~HAB|IO A A RAE4 48,300,000 x5% 2,415
-JIEHEH L d2 R 5,000,000 5,000
“AUSAEZ A 2 L (2E A L)
1,500,000 x4 3] 6,000
202 04 H 4,560 5,280 AT20
01 22U o H 4,560 5,280 AT20




SN HEEND
Mo Hooimp DS (UVDIHUE/ULHT)
CHel: MESAIY 2E (crl ®a)
s = SRE]
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
P EIEEESCT]
60,0003 *4H *3 43| 2,880
OAES HBSAUTA AIZHE 2AL2 ol
20,0003 x1H »7L x 122 1,680
405 KH&HF SHI 46,000 25,000 21,000
01 UH& L E2SFHSHI 46,000 25,000 21,000
OUXEE ¥ IPE(M&, DEUA)
250,000& *20CH 5,000
Oszlola Ha - SR DA 20,000
“HIOQE2ME (S5 94, 45/0a)
6,500,000 *2CH 13,000
-240t013 (A3 2 4) 1,750, 0002 *4CH 7,000
OMNSEHA DU 4S=5D|
21,000,000& 21,000
HESAL 2 616,703 604,176 12,527
201 L2l 492,703 495,176 A2,473
02 3322l 492,703 495,176 A2,473
O1.2ZR23LHA 401,823
-FESAY I E 401,823
COEAE 82 1ML - 22 E)
810,000 *23| M*12& 1.1 21,384
HOEHAE SI82 MSHE AYL)
484,000 333 H*12& *1. 1 210,831
CIOIEAE 8182 MOIIEIAA)
394,000 #1853 M *12& *1 .1 93,615
CIOIEHER 382 MARZAISA)
303,000 *193] M *12& 1.1 75,993
O3. A& & HI R Xl 90,880
-N/WEHI X224l 700,000, 000 *8% 56,000
NWSHEND XEAIAE X2 2H|
66,000, 000 *8% 5,280
-2dSsEH RAEH 269,990, 000& *8% 21,600
“HEYIALZ QNI (2E YA S
g) 2,000,000& *43| 8,000
405 XHoHE S HI 124,000 109,000 15,000
01 UHa L E2SFHSHI 124,000 109,000 15,000
OHFHLE 5A2XdE WAl (poe2dport)
3,000,000 «=8CH 24,000
OAMYA [PRED] WX 100,000, 000& = 1CH 100,000
SOEXNS BUHANAXY RHAL 46,200 39,200 7,000
308 MUXIEHMSO0IA 46,200 39,200 7,000
07 X SHM2REZ 46,200 39,200 7,000
OSOEXNS ZUHANANY PEAAY 2
= 46,200,000& 46,200




2N EESAB
H: FdEolTet NCsH(LeSS-E /L)
chelr SHME D (el:de)
= — = 4 &
SH BB S (3H) - NRAY - BAS of 4 o4 il HI RS2
sSAHLE & 210,922 161,095 49,827
< 64,876
Al 146,046
H = A 46,207 47,364 A1,157
101 124 4] 18,737 17,614 1,123
04 JIZHNZ22XNSES 18,737 17,614 1,123
OSHEZANYR X 7,273
-JlEs 51,7602 18 20«53 5,176
=58 51,7603 x1H 21 1,087
-HRsSFRIITE 51,7603 x 1 +5& 259
428 JI2RE= 6,522,000 x11.5% 751
OZ - NS XZA 11,464
-Jl2s 53,5408 x4 » 10 43 8,567
=g 53,5403 x4 & »23F x43] 1,714
428 JI2REs 10,281,000& *11.5% 1,183
201 ZBt2EH 21,830 22,670 2840
01 At 22l bl 21,080 21,920 A 840
O1.det=3Hl 19,400
-24E SAHAXTA 2t =SHI 2,700,000& 2,700
- - MZEXEAL 2 ALEH SHZ A 9,900
ZMNEZX QHUHE & ZALE A4
60& %40, 000 0K 2,400
ZANEANAE, ZATEE, HMLERE
A 10,0008 x5 «50F 2,500
A HZEAL EDA 22t
5,000,000& 13/ 5,000
-SHAE w2t 25,0002 x2002 5,000
-2 MY SEEA AR S eS|
1,800,000 1,800
O5.8&Hl 1,680
SSHZAL HEFE ANZA2 2RI =4
7,0003 28102 * 123 1,680
02 S3=29Hl 750 750 0
O1.332=<HMA 750
-SHEE ¥ ZANEDN S LERS
2,500& *300% 750
202 o4l 1,800 3,240 A 1,440
01 S OHI 1,800 3,240 A 1,440
OZE SAHZA HR2FA 0l
60,000 x2& 32 x53] 1,800
301 AP B A 3,840 3,840 0
NII2d= 3,840 3,840 0




A 3E2SA
H: ¥Polmet NESH(YBtT T /LB A)
il EHwE s (el @)
SA - BB B () - MM - BES Ol &t o San HmEET
OZ Nzd SBZA o=
8,000 x120J4 & Xl =4 3] 3,840
AP AR E> 126,065 75,875 50,190
= 37,820
Al 88,245
101 @14 dl 31,406 20,315 11,091
< 9,422
Al 21,984
04 DI Z2XNHEE S 31,406 20,315 11,091
O A HI 2= A 31,406
- Ab2 el Xt 56,0003 x 12 27 «80% 14,539
< 4,362
Al 10,177
-S2el Xt 56,090 x2H »27 2 «80% 2,424
< 27
Al 1,697
- ALK& 22 Kt 51,8103 «2H #2722 «80% 2,239
< 672
Al 1,567
—gEudR 51,8103 * 112 %222 «80% 10,031
< 3,009
Al 7,022
-AHEE JI2RE3 2,173,000 2,173
< 652
Al 1,521
201 Let24d] 94,659 55,560 39,099
= 28,398
Al 66,261
01 At 22l 94,659 55,560 39,099
O1.get=2Hl 94,659
NYHEAN d2TsLL2
53,5403 *85H x26 2 *80% 94,659
< 28,398
Al 66,261
BA2EE AL ZAKE > 38,650 37,856 794
= 27,056
Al 11,594
101 @144 Hl 6,991 6,759 232
< 4,894
Al 2,097
04 JIZHHZ2XREES 6,991 6,759 232
OXAMBRIX Y 56,0002 *4% x 142 3,142
< 2,200
Al 942
ogduza =¢ 51,810&+71 3,679
< 2,575
Al 1,104
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